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ZEkok A 200 g 86 64 | T AINLE— = B 270 ¢ 356 - 162
Z5NAED & 200 g 108 86 | WHDH = B 270 g | 356 162
FhE = B 8 ke 3, 024 648 | X 2MMF DM BE A 270 g 432 —
LwhAXEL X PR 160 g 129 — | TR AT = I 9 ke 14, 040 7,776
ANy IR B 10 ke 1, 296 648

FEEIZA A BIRE 10 ke 1, 080 —

< En TRk L 15 ke 864 —

X XY = 10 ke 1,620 1, 080

LEA T E 10 ke 3, 024 2, 538

w2 b 85 5 ke 2, 700 1,728
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AT = B 1ke 432 129 | VU A K E 1ke 4, 320 1,188
ANAA T (I 1ke 1,015 723 | ATV < b 1% 172 54
JEANTTF & 1 ke 1, 350 432

E&A F I 1 ke 1, 404 540
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% BB 1ke 2, 808 291

&7 BERE 1 ke 1,782 864

Y5 B 1 ke 1,728
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